50000 A

0
' 40000 -
30000 ~

100
20000 A

0 100 200

30000 ~
15000 -

20000 ~

400

0 100 200 300 400 500 600

0 100 200 0 100 200
0 0
150000
100 100
100000
i 200
200
50000
0 100 200 300
I
300 0 - 004 06 08 1.0
0.0 0.2 0.4
1.0 7= 0
400 A\
0.8 +——
— 100
0 100 200 300 400 500 600 0.6
0.44 ™ 200
Gn_pct
==o== (Gn_pct
0.24 — Gn_avg 0 100 200 300
T Gn.ave B )
=== (Gn_avg . >
0.0———0— Gn_avg\\T\" T 05 10
—— Gnave 50 7.5
== Gnave i no
=== Gn_avg
=== (Gn_avg
Gn_avg
el On avo 0
200000 A
150000 - 100
100000 200
50000 0 100 200 300
[ s
0 - 0.4 0.6 0.8 1.0
0.0 0.2 0.4
1.0 7 0
0.8 1 ——
— 100
0 100 200 300 400 500 600 0.6 —
0.44 7 200
Gn_pct
=== Gn_pct
0.2 —— Gn_avg 0 100 200 300
0.00 0.05 0.10 0.15 0.20 0.25 0.30 0.35 0.40 — gg B |
0.0 L vy s == 0.25 0.50 0.75
—— Gnave 50 7.5
== Gnave hin no
=== Gn_avg
=== Gn_avg
Gn_avg
el (On avg
0 150000 - 0
100
100 100000 -
200
200
0 100 200 300
[
300 0.4 0.6 0.8 1.0
0

400

100

o

100 200 300 400 500 600

BERERAN

200

0.2 —— Gn_avg 0 100 200 300
—— Gn_ave L e—
=== (Gn_avg .
0.0 L enave— , 0.5 1.0 1.5
—*— Gn_avg 5.0 7.5
== Gnave hin no
=== Gn_avg
=== (Gn_avg
Gn_avg
e (On ovg 0
100000 -
80000 - 100
60000 -
40000 200
20000 - 0 100 200 300
|
0 - 0.4 0.6 0.8 1.0
1.0 T—= 0
0.8 4 =
v 100
0.6
0.44 200
0.2 J—— 0 100 200 300
0.00 0.02 0.04 0. 06 0.08 0.10 0.12 0.14 7%V ¥
0.0+ —— 0.2 0.4
Q= Gn_avg 5.0 7.5
— Gnave hip o
=== Gn_avg
=== Gn_avg
Gn_avg

Gn_avg



